CXEMblI XUMUWYECKUX
NMPEBPALLEHUU B
OPFAHUYECKOWU XNMUK

YIZIEBOJIOPO/IbI:

noJjy4ieHue u ceolicmeda

YYUTE/Ib XUMHUHU : MAKAPKHNHA M.A.



CylieCTBHUTEC IIPpE€EBPAILICHUI 110 CXEME€ 1 HA30BHUTE

BemecrBa:
1 CH+— CH3C| = C2H6 = C2H5C| = C2H4 — C2H5C| =
HgH o — CH5CH,CI
- 1) CHs — CH,Cl == [CH=C

S
CH. + Cl, = CHsCl + HCI (hv)
MeTaH XnopMeTaH

2)CHsCl > CGHe N\ BN

2CH3C| + 2Na = C,He + 2NacCl
ITAH



/
/\U
= 3) C;He — C,HsCl =) (CH 5-CH,-Cl

C,He + C|z = C2H5C| + HCI (hV)
9TaAdH XJ10P3I3TAH
W >

4) C;HsCl — CyH4 — /

C,HsCl + NaOH = C,H+ + Nadl CH.=CH,
(cnMpTOBOW 3TEH(3TUNEH)
pacTBop)

5) C.Hs — CyHsCl
C,Hs + HCl = C,HsCl
STUNJI1eH XJ10P3TaAH




6) CzHSCl — CH3CHC|2

C,HsCl + Cl; = CHsCHCI, + HCI (hV)
XJ10pP3TaH 1,1-anxnop3TaH
(CH3-CHCI)



HANIUILINTE YPAaBHEHUS PeaKuun
B CTPYKTypHO# popme.

3TaH — XJIOpP3TaH — OyTraH — M300yTaH —
2-MeTUI-2-XJIOPIPOIaH —2-MeTWJINponeH-1—
2-MeTWJINIPOIIAHOJI-2

IMAH — XJI0Pp3MAaH
1) CH;- CH; + Cl;, — CH3-CH,Cl + HCI (hV)

xXJl0pamaH — 6ymau
2) 2CH3'CH2C| + 2Na — CHs3- CH, - CH,- CH; + 2NacCl



OyraH — m300yTaH

CH3- CHz = CHz- CH3 = CHg-CH-CHg (kat. A|C|3)

|
CH;

N300yTaH  2-MeTHWI-2-XJIOPIPOIaH

H
CH;3-CH-CH; + Cl, — CH5-C-CH; + HCI

| /\
CH; CH; Cl



N

2-MeTUI-2-XJIOpIpoIIaH —
2-MeTU/JINpoIneH-1
CH;-C-CH; + NaOH — CH,=C-CH; + NaCl + H,0

/\ (cnupToBOM |
CH; CI pacTBop) CH;

2-MeTUW/INPOIEeH-1 —2-MeTH/IMPONaHO/I-2

CH,=C-CH; + H,O — CH3;- CH-CH;

I (H,SOx) =
CH; CH; OH



//\k///

~ OcyuecTBUTe NpeBpallleHUs MO cCXeMe:
BI'z Bl'z 2NaOH

CH3-CH,-CHs h- A h‘ Emm) B

Criup
v \';
CH,-CH,-CH, HEE) A

CH;-CH,-CH; + Br, = CH3'CH-CH3 + HBr
|

Br
A W b
CH;-CHBr-CH; + Br, =CH3;-C-CH; + HBr

/\
Br Br



CIIUPT

CH;-C-CH; + 2NaOH = CH=C-CH; +2NaBr + 2H,0

/\
Br Br



~— Hauawure cooTBeTCTBME:

NaOH HzO Aleg,ZIlO I‘

H;POq 425°c H,O kat, t!C

MOTNM @AV 31 MsI

C2H5Cl A

CIvp

1)C.HsOH E
2)C,H4

3)(—CH,—CH=CH—CH,—) =
4)CH,=CH—CH=CH,
5)CH,Br—CH=CH—CH,Br
6)BrCH,—CH,—CH,—CH,Br

-2, b-1; B-4 I'-5 @O0-6; E -

NPy =T



_—

1) C;HsCl + NaOH — C;H« + NaC(l
(crupr)
2) C;Hs + H,0 — CoHsOH s CH.-CH,-OH
(HsPO4)

AL, O;
3) C;HsOH — CH;=CH—CH=CH,

425°C

4)CH2=CH—CH=CH2 + Br, — CH,Br—CH=CH—CH,Br

kat,t°C
5) CH,Br-CH=CH-CH,Br + H, —CH,Br-CH,-CH,-CH,Br

6) CH,=CH-CH=CH, — (-CH,-CH=CH-CH,-) _

MMOJIUMEepHU3aL U



N

Hanuimmure ypaBHeHUsI peaKuuM COT/IACHO
Heno4YyKe IpeBpalleHuMn:

CaCz = Csz —>C2H4 = C2H4C| 2 —> C2H2—> CHg_CHO
l l

CsHe /\ CO,
HC—CH
1) CaCz —> CzH

2
CaCz + 2H,0 = C2H2+Ca(OH)z

2) CH; — CoHi ooy H\C_C/H

C,H, + H, = C,Ha T4 Ny



C2H4 = C2H4C|z

CH2=CH2 + Clz = CHz_CHz

Ccl (I
4) CH4«Cl, — CyH, ycnoBus: NaOH (cnupr.p-

®JH.Cl, + 2NaOH — 2NaCl + 2H,0 + C,H,
5) Csz — CHg_C=O

7
H o P
Csz + HzO — | |
CHg_CHO ¢
6) CHs-CBHt) =

CO, CH3—-CHO + 30, — 2CO0, + 2H,0




7) 3CoH, — CeHe ycnoBus: t°C,
H

kat. |
H\C¢C\C/H
| ]
H/C§?/C\H

H

CITACHUMBbO 3A BHUMAHMHE




